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HTT - S/ PART - A

&7 / vy faaw
AREA / DISCIPLINE SPECIFIC
1. eordRT, W TIT & fhol fr &gt | 1. The walls of the citadel in Dholavira,

archaeological site, were rimaril
o qegd: — ¥ AT e = & P Y
3 constructed of

o7

(a) TAgr & & (a) Mud-bricks

(b) T (b) Stone

(c) Thr gé & (¢)  Fired-bricks

(d) T ST F T Geir g-g T2l (d) Rammed earth with brick facing

2. Az feoot & T g TARS Fr f3ars 2.  The ‘Tyag Chakra’ in the design of the

. , e National war Memorial in New Delhi is
"7 R q represented by
forar I g1
(a) ‘IHeIE wrafereT gty gé; IMTFR (a) Circular Concentric walls signifying
R St ‘Chakravyuh’ formation
(b) I AT FTA & IRT IR MR (b) Circular podium around Amar
N Jawan Jyoti
() g AfcaEt & e ISR ShY (¢)  Circular covered gallery with bronze
§é’ - murals
(d) <Rl Hr FI-3T  TIdHATHT  aTer (d) Circular patio with individual busts
f o of martyrs

ICRB-d=fa® 3fdaar ‘.. (aeqsan-2023 3
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SET
A

RAFATATET JALT Nl & YFRT ' fAATT:

(P) R D) eFqer

(Q) same D) e
(R) urdiferar (1) ATEFg

(S) airqeA AV) R¥eY smseT
(2)  (P)-(IID), (Q)-AV), (R)-(ID), (S)-(D)

(b)  (P)-AV), (Q)-ALD), (R)-AD), (5)-()
©  ®)-dD, (Q-I), R®)-@V), (5)-(I)
(d  @)-AD, (@-1V), R)-ID), (5)-I)

gelfdgehel BRR H I & faT fFg gar
& BRI TGECIasoR & SEadAtel  fhar

ST 872

(a) ST SBHTFATSS

(b) I T FARISS

(c) I

d) 39FT H § H F7E

300 #ifgh A & Fel HIMTT & TTY
Teh §Tel & Fel I 3600 cu.m. gl geieht
H 200 TfFd g1 AP Tidd & fov 0.5
fgeh @fee @1 eafed faeivor A gy,
gfaeafa @@ $r aomEar +

(a) 2.45s
(b) 2.15s
(¢) 1.85s
(d 1.45s

ICRB-&wfas sffarea. . (@gsean-2023
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3.

Match the following types of Entrance
portals:

(P) Torii 1)
(Q) Iwan (II) Acropolis
(R) Propylaea (TII) Mosques

Temple

(S) Gopuram (IV) Shinto
Shrine

() (P)-dID, (Q-IV), (R)-ID), (S)-I)

(b) (P)-AV), (Q)-(LI), (R)-(ID), (S)-(I)

©  ®)-dD, (-, R®)-AV), (5)-1)
(d  ®)-dD, (@-1V), (R)-A1D), (S)-(I)

Which type of fire extinguisher is used to
extinguish Electrical fires?

(a) Carbon dioxide

(b) Carbon tetra chloride
(¢) Foam

(d) None of the above

A Hall has total volume of 3600 cu.m.
with a total absorption of 300 metric
Sabin. There are 200 people in the
audience. Assuming sound absorption of
0.5 metric Sabin for each person, calculate
the Reverberation time:

(a) 2.45s
(b) 2.15s
(c) 1.85s
(d) 1.45s
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6. T&u RfFyEa &3-III & Fg a3 & w1 | 6. What area 1s earmarked as

. . ‘No Development Zone’ in the Costal
T &7 g’ & & H [IEAdT fhar = . b
Regulation Zone -111?

g7

(a) 3TTTARIWTH 750 m d& (a) Up to 750 m from High Tide line
(b) 3TTFTARI@IH500 m d& () Up to 500 m from High Tide line
(c) 3TISARIW@H 200 m d& (¢)  Up to 200 m from High Tide line
(d) S9FTH A PGS (d) None of the above

7. RArafef@a AT A 1 39 Ty e 7. Match the following Indian temples with

JToTaer & @y fHed - their architectural styles/dynasty:
I . (P) HOYSALA (I) Brihadeshvara
(P) grager @ aﬁ?ﬁ'\r AR, temple,
(‘-iGITE_f\r Thanjavur
@Q et an & . (Q) CHOLA (IT) Single rock
. temples,
AR, Mahabalipuram
AETTATIRHA (R) CHALUKYA  (III) Chennakesava
) temple, Belur
R) areeg (1) Jeerergar AR,
° (S) PALLAVA (IV) Rock-cut
37"3 temples,
©S) ge (IV) e AR, Pattadakal
Ug3Sehel
(@ @)-dD, (Q-1@), (R)-AV), (5)-(I1) (@ (®)-dD), (Q-1), (R)-AV), (5)-(1I)
(b) (P)-AD), (Q-AV), (R)-(1I), (S)-(I) (b) (P)-AD), (Q-AV), R)-A1I), (S)-(I)
(©  (P)-dID, (Q-AV), R)-(D), (S)-(II) (©  (P)-dID, (Q-IV), R)-(D), (S)-(1I)
(d  @®-1D, (Q-@), R)-AV), (5)-ID) (d  @)-ID, (Q-@), R)-AV), (S)-IT)

ICRB-d+fa® afdaar wa.®l.’ (agsen-2023 5
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SET
A

10.

T -9 3NT F Afése A 3R qam
ah & ylaesed g & Slsdr g8 WA
s fAeafaf@d & ¥ Far gardr &7

() ¥ T
(b) I e
(© g RO
@ g g

39 fAgid &1 999 Y, 8 3R W AR
3rearfarar MY & e 3R 3l sawt w Baea
|

(a) A 3Tk AlSe
(b) EIUeIreles &
) &R

) R A

HSBC AEATe™ (gierahien) wa X qfFvers
ORA) #F FraEaT BT FaTe

gl

(a) TUFHAEhoICT I

(b) sAfew Safafa

() whthfaes faHTor

(d) NFenTASe arEdgwReT

ICRB-3+fa® srfdgarea.®.’ (aregaen)-2023
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8.

10.

The radial line joining the intersection
point of a particular month and time
curve in a Sun-Path diagram indicates
which one of the following:

(a) Sun altitude
(b) Sun azimuth
(¢) Sun radiation
(d)  Sun brightness

Select the principle based on which
architect Antonio Gaudi designed curved
and organic buildings:

(a) Catenary arch models
(b) Triangulated truss

(¢) Tensegrity

(d) Geodesic models

The common design concept in the HSBC
Headquarters (Hong Kong) & Centre
Pompidou (Paris) is

(a) Exoskeleton structure

(b) Biophilic geometry

(¢)  Prefabricated construction
(d) Neo-classical architecture



€ﬂ4i ro

s AT Tw. . @EgEan) & ug & e st SET
¢q fofad wlam - 2023

WRITTEN TEST FOR RECRUITMENT TO THE POST OF A
SCIENTIST/ENGINEER ‘SC’ (ARCHITECTURE) - 2023

11. T adeer dfedr 3R 396

Y3t #r Feme

(P) sgam D ©w 30 F IRT
3R oThar & e
arelr fAET hr ez

& 1Y Tellel aTell
Sd dTel IR &l

Q) #ife garar () o717 & @, 919 $Hr

gers Fr drant AR
BH & Gollel dTell
Bd W §o W

R) aAregheg (D) oehsr & % Tl

cISol aTell Golled
gad od & qY

qgﬂmﬁl oThal
gafeld Tc2X Hr
S arelr &an

S arar AV) eaR g arelr

()
(b)
(©
(d)

gy fir Set & &
Sl R 3R &l
FFRT
(P)-D), (Q-ID), (R)-AV), (S)-(1D)
P)-AV), (Q-1D), (R)-(D), (S)-(1I)
(P)-aD), (Q-AV), ®)-(D), (S)-(I1I)
(P)-aD), (Q-AV), R)-(ID), (S)-()

ICRB-d=fa® fdar w.®.’ (aregaen)-2023
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11. Match the Vernacular architectural styles
and their features:

(P) Bhunga (I) Four Halls with

wooden framed
clay tiled sloped
roof around a

courtyard

(Q) Koti Banal (II) Houses on

Bamboo stilts,
bamboo mat
walls and
thatched sloped

roof

(R) Nalukettu (III) Multi-storeyed

timber
reinforced stone
masonry walls
with wooden
framed slate

tiled sloped roof.

(S) Chang Ghar (IV) Cylindrical

(a)
(b)
(©
(d)

shaped room
with mud bricks
having conical

thatch roof.

(P)-@), (Q-ID), (R)-AV), (S)-(II)
(P)-AV), (Q)-A1D), (R)-A), (S)-(II)
(P)-aD), (Q)-AV), ®)-(D), (5)-(1I)
(P)-(ID), (Q)-(IV), (R)-(II), (S)-(T)
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SET
A

12

13.

14.

. Arfef@a & @ #id @ Thioie & &7

dfRae Furar T FHTEAT §?

(a) R12
(b) R22
(¢) Rl134a
(d R32

PVC Ua-Tefess woliReT & TEd FIrer
AT T & YT gl dTell hslaed ok
gl

(a) e solh

(b) Fed R

() I

(d) IR SEC

HERRTH & 3Reed ©s & dider ufed

arell ¥8a & ®A F e FT e I@I/aHoT
IAOTATT & YT TR/ NSl FAT g7

(a) WadAH
(b) ErE-FeaThR
(© Jed 1 AT

(d) T g5 Tedr Y@

ICRB-3+fa® srfdgarea.®.’ (aregaen)-2023
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12.

13.

14.

Which among the following refrigerants
has low Global Warming Potential?

(a) R12
(b) R22
(c) Rl134a
(d R32

The most commonly used conductive
fillers in PVC anti-static flooring is

(a) Carbon Black
(b) Metal fillers
(¢)  Graphene

(d) Copper dust

What is the shape/profile of the gradient
of stepped row seating floor in
longitudinal section in an auditorium
derived from the sight-line/angle
calculations?

(a)
(b)
(©
(d)

Parabolic
Elliptical
Arc of circle

Inclined straight line
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SET
A

15

16.

. CPM/PERT deoeiter #H, frdlY framehema &

for o Rt & difoRka waie &1 3
g

(a) Tohampeg fAeafed & & T
39ersy JTaRed T#T 9 & §
(b) TraTRed H 5 AT A QU A A

Id 37T GHGAT &

() frampamd & qU A & faT Fermiad
g 5 fea §

5 feat sg sfafafer & AsaaT &
GEIEGECTGI

(d)

$ehle H TgF a#Hfe@aw @R GGBS
&l quT & gl

(a) 38 Jdd seiss Aferdr

(b) AT Asfeles AffH Folar

(c) 3T Ide soliEe-Foid Taforenr

(d) 3T Aol sAFC-TBeid FolIT

ICRB-d=far aiffrar ww. ol (aegsen-2023 ¢
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15.

16.

In the CPM/PERT technique, a positive

float of 5 days for an activity refers to:

(a) Excess time available to accomplish
the activity is 5 days
(b) Most likely time to accomplish the

activity is 5 days

(¢) Optimistic time to accomplish the

activity is 5 days

(d) Setting up the milestone of the

activity after 5 days

The full form of the cementitious material

GGBS used in concrete is:

(a) Ground Gravel Blended Silica

(b) Graded Granulated Basic Slag

(¢)  Ground Gravel Blast-furnace Silica

Ground Granulated Blast-furnace
Slag

(d)
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17. ush 3NAIES el & AT H ggaT Y, S
Shel 98T &I a1f T fgam & fow gisfeear
IR Eaffer orwaa & v sEeaaTa AT

ST Bl

@ A=
(b) BFE
© &
d Ha

18. 230 x 110 X 75 mm @& 3MH & gl HI
sﬁmwﬁg%ﬁaﬁgmﬁﬂm’r%
for Arafaf@a & & ia ar a7 T@r §2
(8 110 mm &H HdARF FAET & Ty
31 RRT W & Nomr anfae gar §

(b) 110 mm Fr RS Hider & A
3% T-HET W ¢ fSoEr anfde
g &

© 230 mm H FHA AGAO d=zE H
g 3 R W 3¢ foomr afda
B &l

d) 340 mm H FHT AFAY A= &
g 3% R W g¢ Womr affa
g &

ICRB-&wfas sffarea. . (@gsean-2023
Scientist/Engineer ‘SC’(Architecture)-2023
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17.

18.

Identify the part of an Overhead Crane
that is used for hoisting and traversing
perpendicular to the direction of

movement of the Crane girder?

(@) Gantry
(b) Hoist
(¢ Hook
(d Crab

Which one of the following statements is
true for the Rat Trap Bond wall masonry,
using bricks of size 230 x 110 X 75 mm?

(a) Involves laying bricks on their edges

with internal cavity of 110 mm

(b) Involves laying bricks on their faces

with internal cavity of 110 mm

(¢) Involves laying bricks on their edges
with overall masonry width of
230 mm

(d) Involves laying bricks on their faces
with overall masonry width of
340 mm
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SET
A

19. Arafaf@a & & Sia & 3ieihs FAS &

20.

21.

ICRB-3=fa® affar wa. &’ (aegaen-2023 1

3D Tifag 3ifeade I AT UIRT e
& foT sEadAre fRar Jar 82

(a) VOL

(b) 3DVOL

(¢ MASSPROP
(d) 3DPROP

Fo THA @H gl HY, forad o,
frar-Areft 3R AReEh & seaArer fohar Jrar
g

(a) HAAHIATRS
(b)  STCeHLT
(c) gTHIfEH

(d) Tt

T gfawdt ®as qa Fr Besa & fow
3TN TAedlcHS &ACT &l §¢d o folw
3YATS STeidTell 36T SAATT T gRf?

(a) N alec
(b) FAISS

() el 3T
(@) AT A

Scientist/Engineer ‘SC’(Architecture)-2023

19.

20.

21.

Which one of the following AutoCAD
commands can be used to determine the
volume of a 3D solid object?

(a) VOL

() 3DVOL

(© MASSPROP
(d 3DPROP

Identify the colour scheme in which

Yellow, Yellow-Orange and Orange has
been used:

(a) Monochromatic
(b)
(¢) Triadic

(d)

Complimentary

Analogous

The ideal geometry to adopt for designing
a typical curved shell roof to maximise its
structural efficiency would be:

Barrel vault

()
(b)  Conoid

(c) Catenary arch
(d)

Onion dome
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SET
A

22.

23.

24.

e el -l & @Yy wlfas
qifalg &7 a1

(a) emgT
(b)  3NFeTRgIeT
(c) TSI
(d) SShEgeT

Qped &1 IIT HY A T FURIT JUIEs
§H # pAT: H¥haH &S mger 3R
R ®g T & AEd Hdr g

(a) X g U
(b) FUE T X
() WX Td FguE ¥ vw fawrs g
(d) dUE @ T g gl td AN

frtfaf@d & @ slq @ avg s
fgava arfg wewé & fav glc-eg@s
Td gl 315 STordg & U 3uged g7

O fafese iU,

(I) @ ASH,

(III) 8T8 UAST HAH TFHTAS alel,
(IV) & ST

(@ (@), 1) 3R 31D

(b) @, 1) 3R 1V)

(¢ (D, (1) 3R 1IV)

(d) 3uged F@lr

ICRB-&wfas sffarea. . (@gsean-2023
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22.

23.

24.

Name the platonic solid with eight

triangular faces:

(a) Tetrahedron
(b)  Octahedron
(¢) Icosahedron
(d) Dodecahedron

Choose the option that correctly denotes
the maximum Bending Moment and
Shear stress locations respectively in a
simply supported beam:

(a) Centre and Supports

(b) Supports and Centre

(¢c) Centre and 1/3*4 distance from
supports

(d) 1/3*d distance from supports and
Centre

Which of the following architectural

design features are suitable for use in
both Hot-Humid and Hot-Dry climate for
thermal comfort?

(I)  Building orientation,

(II) Sun shades,

(III) High thermal mass external walls,
(IV) Roof insulation.

(a) (@), (dI) and (III)

(b) (D), dI) and (IV)

(¢p D, dID) and AV)

(d) All of the above
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SET
A

25.

26.

3f{eer H gRaaa v o =, afe eafx
fr daar o gRfAS dgar & 108 e
d §¢ ST g7

(@) 100 dB
(b) 60dB
¢ 30dB
d) 10dB

i @7 faFhed Aol fSmae & fov ade
¥ F gfa-ugy cofFeer gumelr & gofe
T g2

(a) 3TeMT-37eT de gsar & ary &g 3ik
3Yg STr & T al qe afeher usy

(b) TR de 939 F @Y A IR 3
ST & fow ar a¢ afcee ey
© € T 3Yg T & v v A A

UisY U Teh U d¢ 9ISy

d) T T IRE I vd TH g¥h Relp
de 91sq & v U qrsr A« aigy

ICRB-d=far ifdrar ww. ol (aegsen-2023 3
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25.

26.

Calculate the change in decibels if the
sound intensity increases by 103 times its

original intensity?

(a) 100dB
(b) 60dB
(¢ 30dB
(d 10dB
Which one of the options correctly

describes two-pipe plumbing system for

sanitary discharge?

(a) Two sets of vertical pipes for Soil

and Waste water with separate Vent

pipes

(b) Two sets of vertical pipes for Soil

and Waste water with one Vent pipe

(¢)  One common main pipe for Soil and

Waste water and one separate Vent
pipe
(d) One common main pipe for Soil and

Waste water and one separate relief

Vent pipe
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27. dc dod dIUATT AT &7 O fa=fafea & | 27. Wet bulb temperature is mainly
T e &Tﬁﬂ'i‘?(ff)oq T 9 dependant on which of the following

parameter/s?
O 3B SiesT dTaHTe, (I) Dry Bulb Temperature,
A1) fSTe auA, (II) Radiant Temperature,
(IIT) wafar s, () Relative Humidity,
av) g qise arqHTeT (IV) Dew point Temperature
@ O 3R av) (@ O & dAV)
(b) (@) 3R A1) (b) (@D & (I1I)
(¢) (ID) 3R JID) () (1D & (III)
(d) FHaa IV) (d) Only AV)

28. ffaf@ad & ¥ a9 ¥ [JFeq T ¢ 1y | 28. Whiqh of the follpwing options is
Tt BfESe @ 7 T S F AT gﬁ&?ﬁ;ﬁd for evaluating Net Zero Energy
faar forar Srar g7
(a) TBT Tsdoil (a) Site Energy
(b) T TSt (b)  Source Energy
(c) TsTSl PIET (¢0 Energy Cost
(d) 3‘q’4_ﬁ’?:|»—<-r T (d) All of the above

29. @ a & @ 9 @ aFAt & ©rar | 29. Which of the following shall be an

— appropriate landscaping scheme in

e FA 3R WA # 4w I F faw Hot-Dry climate to provide shading in
glesrs #Agw H 39ged STkt THA summers and allow sunlight in winters?
Y. (I)  Evergreen trees in the south side

i . (II) Deciduous trees in the south side
() af&or fger & demeer 93, (IITI) Palm trees in the east/west side
(1) cfeyur feem & goiurdr us, (IV) Bougainvillea vines on trellis in
(1) y&/afes fem & ars & 93 outdoor living areas.
V) 3m3esR fafder &=t # Jel W

STATAforaT Fr AT

@ (@) 3R Al (@ (@ & II)
(b) D 3R AV) (b) (1D & (IV)
(¢) had (1) ()  Only II)
(d) el (I) (d)  Only (I)

ICRB-&fas sffarea.dl. @gsan-2023 14
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SET
A

€ﬂ4i ro

30. ufefferw 15 & 3qarR fAeafaf@a «r | 30.
FAGETT I & & PR F IRET HH

Arrange the following in increasing order
of population and settlement sizes as per
the Ekistics grid:

H gaTg: (I  Polis.
qQifarg (II) Eperopolis.
D (IIT) Metropolis.
1) wREfeE. (IV) Megalopolis
(11I) FAeaifom
IV) HAmeraiferd
(@ (@D, dD, dID, dAV) (@ (D, dD, dID), dAV)
(b) (D), dID), AV), D) (b) (D), dID), @V), dI)

© @, dv), D, a5 (©
(d db, @), dI), aAV) (d)

@, @V), (D), AL
dn, @, 1), av)

3l. 5 &ifaer 3R 5 o"gad Y@t & d¢ ¥ | 3L
fohder 3T ST ST Tha §7

How many rectangles are possible from a
set of 5 horizontal and 5 perpendicular

lines?
(a) 225 (a) 225
(b) 125 (b) 125
(¢) 100 (¢ 100
d 75 d 75
32. Us doodldl 32 AT W 3¢ & T g, 32. A batsman is out for 32 runs, which raises

Saa 39 @9 § 3gar afcer 3itma 20 &
21 do §¢ SdT gl 339em dad 24 d&
ol & T 38 fohdel & TR e a1fgw
q?

(a) 52
(b) 58
(c) 68
d 76

ICRB-d=far ifdrar ww. ol (aegsen)-2023 5

Scientist/Engineer ‘SC’(Architecture)-2023

his batting average for the season from 20
to 21. How many runs he should have
scored to raise his average to 24?

(a) b2
(b) 58
(c) 68
(d 76
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SET
A

33

34.

35.

. 3ieIhs H oSl arell ddg d Hid T HR

Fel IATT ST Fohdl?

(a) eRH

(b) FHIA

(c) EERNTS
(d) el

Hild Fgfoad, e iR arear gared
A & fAv gani, afoat sk @fedt &

Fa1s 3K AisE & AU A
& IR ) FuiRa fre v €
(@) UAfeTFR

(b) SR

() SRR

(d) TS

Ush Qe &l IIA Y, Sl 99 7HeW H oy
geg & Y H faaeT &

ASSET
(a) FrEr
(b) qHEET
© g
@ &R

ICRB-3+fa® srfdgarea.®.’ (aregaen)-2023
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33.

34.

35.

Which of the shapes cannot be formed by
a ruled surface in AutoCAD?

(a) Torus

(b) Plane

(c) Hyperboloid
(d) Cylinder

The standards for the height and width of
doorways, corridors and stairs to ensure
human comfort, safety, and efficiency are
fixed based on:

(a) Anthropometrics
(b) Biometrics

(c) Biomechanics

(d) Physiognomy

Choose one word that is opposite in
meaning to the word in Capitals:

ASSET

(a) Tragedy
(b) Problem
(¢) Misfortune
(d) Burden
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SET
A

36. & AdER @ 300 fFamr aoad &

37.

38.

HIFEFR & Tohs W AFhell &1 S W@ B
TEel ATAE A 30% Blm AT g, G
Aedle # AY 20% B Sar g 3R W
qedE H 10% Bar Srar § 3 AR Aqfd
garer & fow giferer i Swedr &1 ar daq #
IR A T goT F2AT 82

(a) 150 feharm

() 151.2 TRar
() 154.6 T
(d) 160.8 T&rar

Ut & AR A T E TS g o
qUIITAT 95 &I Jgdie &Y

(a) goler

(b) 30+

(¢ &der

d) O

areq  fawar 3w Gl
3T 37T §

(a) @ROT

(b) R

(©) A

(d) FHzuH

ICRB-d=far ifdrar ww. ol (aegsen)-2023 7
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36. A piece of marble weighing 300 kg statue

37.

38.

is being carved by a sculptor. In the first
week 30% 1s cut away, in the second week
20% of the remainder is cut away and in
the third week 10% is chiselled away and
polished to produce the finished statue.
What is the weight of the final statue?

(a) 150kg

(b) 151.2 kg
(¢ 154.6kg
(d) 160.8 kg

Identify the deciduous tree from the given
list of common names of trees:

(a) Palash
(b) Ashoka
(c) Pine

(d) Banyan

The architectural feature ‘Urusringa’ is an
integral part of

(a) Torana
(b)  Shikhara
(¢) Gopuram

(d)

Mandapam
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39. afgar, aRf@er vad wrdRE-AHET A1

40.

41.

42.

ICRB-&wfas sffarea. . (@gsean-2023
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foha Ui 9eaX & YR 872
(a) SRR T2

(b) Sl HIHATHAT

¢ Eiferer darse

(@ AT TR

FefeRr 9y f3emsa

fadrwar g

(a) TAFIRTT cFacISH
(b) ShT arar fAfcaRT
() & RI% 3T

(d) YASIIROT 3T

qarer SfAfeRr I @
CanT fSairseT T T Tl

(a) TAAAT M
(b) SEE YFHelT
() T A

(d) HRIAWEN FHreTTar

[Aefai@d & @ ST @1 y-Furfaes ser &

faeeIvor & Y+ GIS HIFed; g7

(a) TH.T.UH.

(b) Toaehfsar
() ThT 3T
(d) T&é$s

18

39.

40.

41.

42.

The common names — Breccia, Botticino
and Emperador are varieties of which
natural stone?

(a) Jaisalmer Stone
(b) TItalian Marble
(¢)  Spanish Granite
(d) Limestone

Embroidered parterre designs are a
feature of

(a) Victorian textiles
(b) French wall murals
(¢) Baroque gardens

(d) Renaissance gardens

Sagrada Familia church was designed by

(a) Antonio Gaudi
(b) Joseph Paxton
(¢) Charles Barry
(d) Santiago Calatrava

Which of the following is a GIS software
used for analysis of geo-spatial data?

(a) SAS

(b) GeoMedia
(¢) SketchUp
(d) CityCAD
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43.

44.

45.

ICRB-d=fa iffrar ww.dll. (aegsen-2023 g

AT MATAhTer T ER/T A IETAYST AR

& fAafdar w1 Wi @@ & oo

fFefafEga & 4 ala a1 gEue 39

el 87

() GER W ¥TASC Hebd FHIadl T
IFFT AP & @Y TR GAUA
3R e

(b) HYUROT 3R dIfdheh AANIT & AT FHH
HA-ST T gl

() Wﬁtm&?ﬁwmmﬁaq@%
grer digr @d@fear IR foam Rl
FFACHEAA & AR FIRT Y dF
difear

(d) el TR W Jod W FIH FaTelel &
for art 3R wcd seE & @iy
faera

& qEh, OEd TEaAa-qd #Rd #
TIUr A fSeel & @@k o I &
gy foRar ar?

(a) o33l TWelsit

(b) HAgFAC ST JaTeTh

(¢) 3hslT

(d) fofeer

fORasad & AW dagerm H aeg
el &1 T A

(a) SS-ARATIR
(b) ZE-aMAR
() TaFeIRaa
@ Sofees

Scientist/Engineer ‘SC’(Architecture)-2023

43.

44.

45.

Which one of the following provisions is
not advisable for safe evacuation of
inhabitants of a High-rise building in the
case of a fire emergency?

(a) Level entrances and exits with good
signages and accessible information
at the entrance

(b) Reduced travelling distances with
simple and logical layouts

(¢) Wide staircases with unobstructive
access from the basement floors to
ground floor and continuing up to
the upper floor levels without any
compartmentation.

(d) Wide exit door openings with
sufficient space around for ease of
operation when seated in a wheel
chair

The ruler who attempted to shift the
capital of Pre-Independent India from
Delhi to Devgiri was

(a) Allaudin Khilji

(b) Mohammed bin Tughlaq
(¢c) Akbar

(d) British

Select the Architectural style of The
Napier Museum in Thiruvananthapuram:
(a) Indo-Saracenic

(b) Indo-Gothic

(¢) Victorian

(d) Byzantine
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46.

47.

48.

49.

98 aFgHR, o SR & T e fadr
H IrateTT TS AT

(a) A &g ATH
(b) TIeITER HeamET
() foamE AR

(d) 3MEHG BRI

AT @d & ¥ Hid T U4, AT Y&dd
% A3S HaAyol T 0T Fd & T Her
sTer 872

(a) 3T odd W FHaX F IS Frse AT
&1 gfaerd

(b) Toe & e TRAT FI AP AT §

(c) vufegsw oRar &1 enfAe fFar = §

(d RC yay diéedr & for wRar &t

enfier foram a=r §

JeR-gdl ¥RAT Tsdl A 9w S arel
g & carex fv 9w s@/fAfcaar & aryr
dPal & WA dlell GIaRI & olT WRETT

AT FIT §7
(a) gl
(b) ier
() Smer
@ g

golfagehel W1 T T
GART eFerd I ST B

(a) AT

(b) &I

(¢) dlees

(A 39GFT H A g G

ICRB-&wfas sffarea. . (@gsean-2023
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46.

417.

48.

49.

The architect who had planned the
‘The Pink City’, city of Jaipur:

(a) Ram Singh Malam

(b) Vidyadhar Bhattacharya
(¢)  Chitrangada Mori

(d) Ahmad Lahori

Which one of the following statements is
not true for -calculating the Ground
Coverage of a building proposal?

(a) The percentage of Site area covered
at Ground level

(b) Lift Shaft area is excluded

(c)  Atrium area is included

(d) The area for RC Entrance Portico is

included

What is the traditional name for the
wooden framed walls with mud plastered

bamboo/reed mat infill panels, found in
NE Indian states?

(a) TIkra
(b) Chong
(c) Zabo
(d) Dree

The rating of electrical fuse is expressed
in terms of:

(a) KVA

(b) Current

(¢) Voltage

(d) None of the above
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50. ydireq fr 'q"\ﬁt Far g7 50. Unit of illumination:
(@) 3NEA (a) Ohm
(b) dlec (b) Volt
() oFH () Lux
(d) 3q'{ﬁaarcr H I RS 8T (d) None of the above
51. fa=1fa@d § ¥ &l & Avae gregar | 51. Which of the following feature/s were
‘ ° advocated by architect Laurie Baker?
T SR @R FARGT H TG A2 (D  Filler slabs,
(D e Foleq, (II) Rat Trap Masonry,
I YT ¥ FAFAY (IIT) Latticed Brick wall,
(1) STeeR éﬂ' £ daR, (IV) Shell roof
IV) o Fh
(@) (O w (IV) (a) (D) and (IV)
() D) wa (III) (b) I) and (III)
(¢ (@), dI) wa (III) () (D), dI) and (III)
) Faer (1) @ Only (IT)
52. Frdc i@ & AT AT grar | 52. Carpet area does not include
gl
(a) ToFe o (a) lift well
(b) TEIRHT (b) staircase
() RSN (¢) corridor
(d) 3q'{i,af—¢r gy (d) all the above

53. mﬁgﬁm TAT § arEgehell T aFIT 53. Fluid architecture in modern times was
)

& ZanT &Y TE o initiated by
(a) STET Bl (a) Zaha Hadid
(b) o I (b) Laurie Baker
¢ T ﬁ—q:ﬁm? (¢) Le Corbusier
(d) TUH.UA TSC (d) F.L. Wright

ICRB-3=fa® affar oa. &’ (agaen-2023 o
Scientist/Engineer ‘SC’(Architecture)-2023
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54. QIS T@T AT H yRfAs BT FA1 §2 54. In additive colour mixing, the primary
colours are

(a) orer, drer, sielr (a) Red, Yellow, Blue

(b) e, drer, & (b) Red, Yellow, Green

(c) doTel, g, sirell (¢) Red, Green, Blue

(d) &1, e, drer (d) Green, Blue, Yellow

55. Ieg =dd Tolos q‘\ﬁ-{ H fafaf@a & | 55. Which one of the following is not found in

FIT TET ITAT SATAT §7

a sealed double glazed unit?

(a) FTIE BH (a) Spacer frame
(b) sfFH (b) Desiccant

(c) dRR AY (c) Wire mesh

(d) sdc T siwd (d) Inert gas infill

56. Saf Fr T oA HT 'ﬁﬁﬂT ot §tr 56. Which one of the following coatings is

A e b e | o o oo rickvork o ot s
THEdlsl e & fov Sefai@d # @ @i bricks to breathe?
AT Hifear 3mesl §?
(a) TUfsfor Fifcar (a) Acrylic coatings
(b) 3 e Hifcar (b)  Oil Paint coatings
() Res/f&deaa s (¢) Silane/Siloxane coatings
(d) TYIFHET FifeT (d) Epoxy coatings
57. $IRT H Fad §3T [T Afex & 57. The largest cave temple in India is:
(a) TerE, FeTesh (a) Badami, Karnataka
(b)  Telrther dhr WY, HERTSE () Elephant Caves, Maharashtra
() TeolRT & IGIT, IRAMMETS (c) Ellora Caves, Aurangabad
(d) st & E;I'Cﬁr(f FGIECR (d) Tabo Caves, Himachal Pradesh

ICRB-&wfas sffarea.dl. (@gsan-2023 22
Scientist/Engineer ‘SC’(Architecture)-2023
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58. fr ARl & carT g Fearerxw A | 58. The vertical measurement system
9 ~

JOTER T 22 portrayed by the ‘Le Modular’ is?
(a) WBEAAT AT (a) Fibonacci series
(b) fasfaaa A« (b)  Vitruvian man
() & s Us 38 AR (¢) The blue and red series
(d) e AT (d) Golden ratio
59. &, Oded, 3eurd, AEr, 3mfe ———— | 59. Rhythm, balance, proportion, scale, etc.
¥ R > 5 2 are principles of
(a) YT (a) Composition
(b) EIMd (b) Music
() T IqT (¢)  Visual appeal
(d) 39daFa g (d) All of the above

60. ffa@g & O &7 arEIehell feemfader | 60. Which of the following does not form

aRwe & ITER faEJd aredehell Jai3il 1

feear & aetar &2 guidelines?

(a) fEosaT ta Tua faww (a) Design and Site development
(b) T f3STse (b)  Structural Design

(0 HVAC fsams (¢ HVAC Design

(d) IRz areEqghel (d) Landscape Architecture

61. SFrafhfoes arEdear FT AT Qdwar #ar | 61. What is the main characteristic
fel Pl

g?
(a)
(b)
(©
(d)

Biophilic architecture?

YehTQT T F&TaT (a) Addition of light

l;lef?r g o0 (b) Inspiration from nature
giet sy ST (¢) Addition of plants
KQ'{ﬁ:ar—cr O P T4 (d) None of the above

ICRB-3=1fa® 3ffaar vq. €.’ (@qsen-2023 o3
Scientist/Engineer ‘SC’(Architecture)-2023
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62

63.

64.

. FEd FARRIcHS fAATOT AT -
(a) TR F T A §
(b) 3T AT & R 3catoid gl arer
FIe A 3R FIo FIART FRT &
(¢ Tonfesd 3R dieieR & o1 g1 &
(d) 3TF GOl HIeeT B &

HITTUT deil & Iy & faw RC &7 &
g YR &1 Re=wpdde ar Jar 872

(@) &P

(b) 3ZE ol <A Re=wprasT

¢ Feu

@) FT Reewprdse

ffaf@a & @ 59 aw S doad
JUITell & & H STAATA Tl [hdl ST 87

(a) WG T FATE HUSROT
(b)  HET IR

(c) ST HIGOT

(d Ao h

ICRB-3+fa® srfdgarea.®.’ (aregaen)-2023
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62.

63.

64.

Carbon negative building materials

(a) are made of Aluminium

(b) store more carbon than what is
emitted during their manufacture

(¢) are made of plastic and polymer

(d) have high embodied Carbon

Which type of reinforcement is provided in

a RC beam to resist shear forces?

(a) Hook

(b) Double layer tension reinforcement
(¢)  Stirrup

(d) Compression reinforcement

Which of the following are not used for

Rain water harvesting?

(a) Surface runoff storage
(b)  Ground water recharge
(¢) Water Catchments

(d) Sludge Tanks
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65. Rd &1 9UH 3D [z g3d9
7 Affa orar =m an

(a) SITeE
(b) oAy
(c) =TT
(d) feeel
66. ‘3RTSA H Th IR gl
(a) T ¥ difeer fear @ omsH
TATEEX
(b) S TaTEX
(c) el ATBH TallFex
(d) 3ugFd A § HIg AL
67. THFR HHA FA & fov wrew dfeler
3T oge AT Tesad ——— gl
(a) dse
(b) wdE
© &
(d) T

68. @& fafesar AT & &I & FH A H
Afoi@a & O 9 a1 TFeu TERH

oTEt gram?

(a) Taeo g fAROT

(b) $SR g e AT

(¢ 3T VOC Feiller 3 9 &1 gaeT
(d) f&T A geT #T 3STeT HIAT AT

ICRB-d=fare Hiffrar ww.dl. (aegsen)-2023 o5
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65.

66.

67.

68.

India’s first 3D printed house was built in

(a) Bengaluru
(b) Chennai
(¢) Nagpur
(d) Delhi

‘Araish’ is a type of

(a) Polished lime plaster from
Rajasthan

(b) Chettinad plaster
(¢) Kerala lime plaster

(d) None of the above

The ideal light mounting style in a false
ceiling to minimize glare would be:

(a) Pendant
(b) Surface
(¢) Track
(d) Cove

Which of the following option will not help
in reducing symptoms of Sick Building
Syndrome?

(a) Fresh air distribution

(b)  Control indoor air humidity

(¢)  Use of high VOC flooring and paints

(d) Provide adequate daylighting
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69

- ArefEa # @ F9 9 FRe F R

HaeT & Fofl fAsulgar gs#@ (EPD) &
gafad gl r HaTaaT e &2

(a) #HTeT HTARUT (TsTdelld)
(b) HIT TIH FHAlAT
(€ UHA FFhe e IR Foga
(d) Tdhd ol JUTe
70. $RA FT TIH 997 Srefachel M —
# feua g
(@) RS, grasy, afdaw Fame
(b) ST, Fellesh
() 33HE g AR gdId HHg
(d) ¥, Felren
71. gt @’ g A Cal
HYATAT B
(a) 3HfAgEHAdG
(b) 3rqofar 3R aeaar & died
(c) HfARdATG
(d) ST
72. g & 3% 3 & fow @
glaT gl
(@) FAR fBoms=
(b) TIART B8
(¢) eafas fEamsa
@ 3w B
ICRB-37fas srfdrrarva. . (@reqsen)-2023
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69.

70.

71.

72.

Which one of the following factors is not
likely to affect the Energy Performance
Index (EPI) of a building?

(a) Building envelope

(b) Building egress components

(¢c) Thermal comfort systems and
controls

(d) Renewable energy systems

India’s biggest botanical garden is located
in

(a)  Shibpur, Howrah, West Bengal
(b) Bengaluru, Karnataka

(¢) Andaman and Nicobar Islands
(d) Mysore, Karnataka

‘Wabi Sabi’ philosophy embraces?

(a) Minimalism

(b) Beauty in  imperfection and
impermanence

(¢) Maximalism

(d) Flamboyance

The Rule of 3 is applicable for

(a) Interior Design
(b)  Structural Design
(¢)  Acoustic Design
(d) Industrial Design
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73. ‘@S ddsr & B I

o fefarer foar Sirar g

(a) HAHASA Thierer

(b) WA UG U

(c) Aol Tifarr

(d) #A mRa g3 diferer

74. ‘RAL’ (Reichs-Ausschuep fir

Lieferbedungungen und Giitesicherung)

JuTTell gafafed &
(a) PR TUSS
(b) Weifax EEUSS
() gIaT ¥uss

(d) IUTdcAT TUSS

75. T A8 39 REY AFS qEh
carT forgr 18 &
(a) Ar. Ired AT
(b) Ar. FAY hFqe
(© Ar. JfqH FHFHIS
(d) Ar. ST Shd

76.  ofrer c‘lff;voa-l Teh SITA-HATeY

(a) PIeTITH
(b) de&X

() ol@H

(d) TREIHR

S

ICRB-3=1fa® 3ffaar oq. €.’ (@qsen-2023 o7
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73.

74.

75.

76.

‘Sankheda’ wooden furniture is finished
with

(a) Melamine finish

(b) Lacquer and Paint

(¢)  Shellac Polish

(d) Wax-based wood polish

‘RAL’ (Reichs-Ausschuf fiir
Lieferbedungungen und Giitesicherung)
system is a well-known

(a) Colour standard

(b) Furniture standard
(¢) Safety standard

(d)  Quality standard

The book ‘The City in History’ has been
authored by?

(a) Ar. Charles Correa

(b) Ar. Kenneth Frampton
(¢) Ar. Lewis Mumford

(d) Ar. Jane Jacobs

Thota Vaikuntam is a well-known
(a) Photographer

(b) Painter

(¢)  Writer

(d)  Architect
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77

78.

79.

80.

. 8 X # UNESCO 3R UIA @it

aregehell H AT TSR 2023 F T H
JfReRRe d 9X & fear o §2

(@) 9RF

(b) AT

© A

(d &g

gcal ¥ SHE AT

Te i sl &1

(a) aEdehdT IRASATT

(b) eIl 3R dEIehell

(c) e, arEdehell 3R fBoTgeT

(d) e, dEdeer, fSess 3R ERW
IRIASTATT

IGBC 3R GRIHA CEIRY

JATT T g

(a) CII td TERI

(b) fa2g gRa #asT 9Rwg ua GRIHA
RLIAEY

() Y UE.CHER 3’ #ART THR

(d) 3ugFd A § HIg AL

Teh Hheh Hl Had 4 & F Fead W
IFFaA fohdell Farsd gred i ST Fehdr
g2

(a) 14
(b) 8

(0 11
(d 13

ICRB-3+fa® srfdgarea.®.’ (aregaen)-2023
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7.

78.

79.

80.

Which city is officially designated as
World Capital for Architecture 2023 by
UNESCO and UIA?

(a) Paris

(b) Copenhagen
(c) Rome

(d) The Hague

Domus Magazine from Italy showcases

(a) Architecture projects

(b)  Art and Architecture

(¢)  Art, Architecture and Design

(d) Art, Architecture, Design and

Interior Projects

IGBC and GRIHA are formed by:

(a) CII and TERI

(b) World Green Building Council and
GRIHA Council

(¢)  Govt. of USA and Govt. of India

(d) None of the above

What is the maximum number of slices
that can be obtained by cutting a cake
with only 4 cuts?

(a) 14
(b) 8

(0 11
(d) 13
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81.

#eT ‘@ / PART ‘B’

fAATTar / eTHar gdietor
APTITUDE / ABILITY TEST

HiTar [QheT uT g &1 T oar §? | 81.  Which option replaces the question mark?

(1 31%)
?
?
e
=
2 EAN
2
. @
¢
M= = M= = Y
(@ 1 @ 1
®) 2 ®) 2
() 3 e 3
d 4 d 4

ICRB-3=1fa® affar wa.®l’ (@g®an-2023 o9
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SET

82. W R W vRgR @ gar @

(1 37)
CRTIIG
(@ A
b) B
) C
(d D
83.  Flwwr Rwew we Redt F U Aar 37
(2 3F)
'l ; a0( ey _ &nr_ ]

Changes shading of 1st and 3rd items Removes shading from 1t and 2nd items

aelll -9 mem TaECOSRY

Replaces 15t item with copy of 3rd item Mirrors entire sequence in y axis

{j sy <7 \ '/ () sy

@) A
® B
(¢ C
(d D
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Find the replica image to the first (1 mark)

A B C o]

@ A
(b) B
© C
d D

Which option replaces the question mark?
(2 marks)

a0(|-6> [a0( tat| () 0ar
Changes shading of 15t and 3rd items Removes shading from 1st and 2nd items

-

avll -9 (mom TAECSIY.

Replaces 1t item with copy of 3rd ilem Mirrors entire sequence in y axis

: YA
Qav ) Qas

(a) A
) B
© C
(d D
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Tt TR o IR () A
& fou g Sas geamem 739 av g,
Jdfhd §als H SeH o dld s 3il|a«
77 A Shfad &N, AR JEfEEEn § seA
ol alel god Arade 71.7 ay Shiad Igel
safav, afe oEfeaEr & ve Aafdarfed
g @ gaTS F IUAT IRAN YE HIAT 2,
A o godt & oEREET # W W
AR B qeeT # 3E o S
& T 3FHIG ST SATUE|

ffafEa & @ &9 @1, I g §, @
=g & el T Fshy F geq R
T G HASAR HMM? (1 37)
() AT YA & GTEITHITAG Tl AlTd
¢ T gars (Hawaii) Siet & Ssfaamen
& dEd Sfead # seawea gfe
graf|

ST & G o FOT 3RIT ST
¥ 5 31 T & 3hs T &

gars (Hawaii) &1 addAeT €T 6
ety #1 AT HWSAR IHAfAH T
¥ FUIRT FRAT A e@r S B
TR & @ & afded a
77 a¥ & 3% gAY T SNfad W&o
&I 37 R TdHd B

(b)

(©

(d)
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84.

The average life expectancy for the entire
United (US)

73.9 years, born in Hawaii will live an

States population 1is
average of 77 years, and those born in

Louisiana, 71.7 years. If a newlywed

couple from Louisiana were to begin their
family in Hawaii, therefore, their children
would be expected to live longer than
would be the case if the family remained
in Louisiana.

Which of the following, if true, would most
seriously weaken the conclusion drawn in

the passage? (1 mark)

(a) Insurance company statisticians do
not believe that moving to Hawai
lengthen the

will  significantly

average Louisianan's life.

The
falsely alleged that statistics for his

(b)

governor of Louisiana has

state are inaccurate
(c) The longevity ascribed to Hawaii's
current population is attributable
mostly to genetically determined

factors

(d)

Thirty percent of all Louisianans can
expect to live longer than 77 years
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PR et F ¥ o, we
31 U 1T Ueg T AT &Y; (1 37)
SRR

(a)
(b)
(©
(d)

g 9T P,Q R, S, T 3R U 3dd W

SRV HHR # oS Bl

1. 3H YR & ST it @it 8t FAreT
EEIEEDEY

2. P, QR F fAsheey 781 &1

3. S, RAT & ey 7L &1

4. Q3R R ey gl

5. U,S3IRRFAIAEI

P S @ 37N & g W &l T, 8 &

AU (2 37)

()

(b)

(©
(d)

cC " »n Lo
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85.

86.

Choose one of the following options that
means the opposite of the given word:
AWARE (1 mark)

(a) Uncertain
(b)
(©)

(d)

Ignorant
Sure

Doubtful

Six people P, Q, R, S, T and U are sitting

on the ground in a hexagonal shape.

1. All the sides of the hexagon, so
formed are of same length.

2. P is not adjacent to Q or R.

3. Sisnot adjacent to R or T.

4. Q and R are adjacent.

5. U is in the middle of S and R.

Who is at the same distance from S as T is

from S? (2 marks)

(a)
(b)
(©
(d)

cC " »n Lo
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4 8 0
L e, ¥
s(0)6 7(1)6 11(?)2
-y o/ -y
7 4 2

(a) 42
(b) 12
€ 44
@ 11

88.  yed fEsT & TUWT WX AT ATWN? (1 3h)
(o
NI %

(a) 78
(b) 64
(© 75
d 84
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87.

88.

Which one will replace the question mark?

(1 mark)
4 8 0
Y .- ~
5(0)6 ?(ﬁa 11( 7 )2
"’ S’ -
7 4 2
(a) 42
(b) 12
(c) 44
d 11

Which one will replace the question mark?

(1 mark)

(a) 78
(b) 64
(© 75
d 84
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2T g & TAT 9T AT 3TTI?
(2 37e)

ABCD —[¢$s[—»{}{]—=BCDX
o

XCD

BCDX

ABCX

CBA

ABCZ | AB

o

(@ A
(b) B
@ C
(d D

LT 1 gl I & R gU g

dazg 2: A3 TH &div gl

LT 3: A3g & HHOT Tk SareeEr

@ g3 Tl

afg ggat & AT wUF @ g,

fArfaf@a & & Flaar sy Nt F a2y
arfgw?

L #13 9=l & fORT g3

I: gl ey Sarendgfeat @ & g

I gefy Saremgd ediat « g1 (13ih)
(a) hadl I

(b) FHad Il

() ohadl III

(d) 5 At FUT AT ITT TET ¢
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89.

90.

Which one replaces the question mark?
(2 marks)

»@ » BCDX
0

ABCD

&
: 0.0

BCDX

XCD

BC»y> 0 |3BCK|CBR |BBCT) BB

\ B C D
a A
(b) B
¢ C
d D

Fact 1: Islands are surrounded by water.
Fact 2: Maui is an island.

Fact 3: Maui was formed by a volcano.

If the first three statements are facts,
which of the following statements must
also be a fact?

I: Mauiis surrounded by water.

II.  All islands are formed by volcanoes.

III: All volcanoes are on islands.
(1 mark)

(a) Tonly

(b) IIonly

(¢) III only

(d) None of the statements is a known

fact
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eac IEEIA carr fahfia Ametar &
Rga o sifadHr & a3 & wfa o &

SEA  HAY, TS 3R Tocarhyur A
URYRS FgEfadel TURON3T H el

a1l IEET & [agrd  yEarad far &
7T 3R T oRdeT AT €, fcd WER
gora §, TS99 3iaRer @#g e Srar 1 |
O gegA AR Far fr uRrufa &
FROT HARET-TAT I Tohal & &I H
T&cATRYUT T IGUROT i 8T ger faha|

3eaC IMSEIT & 3 ATIeTar & {gia &l
FIAT THTT TST? (1 37h)

3 HANET AT & Th AT HAlsel
g fear 3R @EE, wE 3R
TRcAThYUT &I FAS H shifed o &

(a)

(b) FEA URURE YIfAdel FTUROm3L
aT W fohar 3R FAT 3R T H;
of sl 1 Ffa f

$HA oA 3N FaAT & T WER
frar W waw &fga Far, afea
HITHhT & &1 W Hg Aged Yo7 o7
Tel STell

SO HARNST-GAY &I FTURUT O
Y, Wfehet TRcaTRyOT HT HAS W 5H
& ~GTdH JHTT 93T

(©

(d)
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91.

The theory of relativity, developed by
Albert Einstein, revolutionized the field of
physics. It challenged the traditional
Newtonian concepts of time, space, and
gravity. Einstein's theory proposed that
time and space are not absolute but are
interconnected dimensions that form a
four-dimensional fabric called space time.
It also introduced the concept of gravity as
the curvature of space time caused by the
presence of mass and energy.

What was the impact of Albert Einstein's
theory of relativity? (1 mark)

(a) It presented a new model of space
time and  revolutionized  the
understanding of time, space, and

gravity

b)) It disproved  the traditional
Newtonian concepts and established
the absolute nature of time and
space

(¢) It focused on the interplay between
mass and energy but did not
significantly impact the field of

physics

(d) It introduced the concept of space
time but had minimal influence on

the understanding of gravity
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92.

93.

B2CD, _, BCD4, B5CD, BC6D
(2 37)

(a) B2C2D

() BC3D

(cp B2C3D

(d) BCD7

dIfeRT &1 €AAYdS IETTT Y 3 &
feU 3T 9T FT ek &

Projected and Actual Production of Cars of 5
' Different companies
{Numbers in ‘000)

A B C D - E
Plalrp|alrp|alr|{afr]}a
1987 |22 |20 |26 |12 |21 (2022 (16 |22 20
1988 |26 |21 |21 |14 |22 (18|20 13 18| 16
1089 |24 |22 |15 |14 |26 (20|22 (21 |20 18
1990 |29 |23 |14 |10 |30 |22 |29 (23 |23 |19
1991 |28 121 |18 |15 (34 |28 |26 |24 |21 |17
1992 |31 (2022 |18 |36 |31 |30 |287128] 26
P = Projected; A = Actual ’

Years

soT auf & fFE FHUT FT FRI FT qEATAH

IcaTe 9w 3 &2 (1 37)
(@ A
®) B
© C
@ D

92.

93.
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B2CD, __, BCD4, B5CD, BC6D
(2 marks)

(a) B202D

(®) BC3D

¢ B2C3D

d) BCD7

Study the table carefully and answer the

question given below

Projected and Actual Production of Cars of 5
‘ Different companies
{Numbers in ‘000)

A B C D - E
Plalep|alr|alrp|alr|a
1987 122 120 |16 |12 |21 |20 22 |16 |22 {20
1988 126 |21 |21 |14 |22 |18 |20 13 18| 16
1089 [24 |22 |15 |14 |26 |20 22 |21 |20] 18
1990 129 123 |14 |10 |30 | 22|29 |23 |23 19
1991 |28 121 |18 |15 134 |28 |26 |24 |21 |17
1992 |31 120 }22 118 )36 |31 |30 |287128]26
P = Projected; A = Actual ’

Years

Which company has the highest actual
production of cars over these years?

(1 mark)

@ A
® B
 C
@ D
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95.

dIfeiehl &1 &AYdeh 3Meqgqel Y 3R &
U T YT T 3o &

Loans disbursed by five banks over the years
{in crores of rupees)

Banks Years

1982 1983 1984 1985 1986
I 13 23 45 30 70
I 27 33 18 41 37
il 29 29 22 17 11
v 31 16 28 32 43
v 13 19 27 34 42
Total 118 120 140 154 203

1986 # forg d& &1 HoT f9awor @t daf

& 25 gfaerd & 3f¥es ar? (1 37)
(@ 1

() 1I

() III

@ 1Iv

IR [0,1] Hah f(x)=x’+x+x+1 &
fSig ¢ @lel, 587 ash 1 TILRET & Gelled
(0,1) & S[3el dTell IWT & Gollel o XN §

(2 37)
(a) 0.64
(b) 0.54
(c) 0.44
(d 0.34

94.

95.

Study the table carefully and answer the
questions given below

Loans disbursed by five banks over the years
{in crores of rupees)

Banks Years

1982 1983 1984 1985 1986
I 18 23 45 30 70
I 27 33 18 41 37
Jild 29 29 22 17 11
v 31 16 28 32 43
\'S 13 19 27 34 42
Total 118 120 140 154 203

In which bank was the disbursement of
loans more than 25 percent of all banks in

19867 (1 mark)
(@ 1
(b)y II
(cp III
(d IV
Find the point ¢ in the curve

f(x)=x*+x*+x+1in the interval [0, 1]
where slope of a tangent to a curve is
equals to the slope of a line joining (0,1)

(2 marks)
(a) 0.64
(b) 0.54
(c) 0.44
(d 0.34
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